M MORRIS

9 series training
Module 2 : 2016 Assembly & Tech Updates



purpose

AThis module is meant to provide a brief overview of assembly and technical support
bulletins that have been released during the past year.

A Always refer to those bulletins for exact information regarding their contents if
something is unclear.

Al £t odzAftSUGAYya IINB | O0OSaaArAofsS 0KNRdAzAK

AHighlight things we have identified in the past year and cover issues that continue tc
arise from season to season.

@ MORRIS Module 2: New 2016 Assembly & Tech Updat:



tech 381- spacing sprocket

Alt is imperative the correct Spacing Sprocket be installed on the Air Cart for accurate
metering. (See Chart Below)

AOn the following 9 Series Air Carts there @#Olocations to install Spacing
Sprockets:
A TowBetween 9365 an@450
A TowBehind 9365, 9450 ar@b35
A TowBehind 9445, 9550 and 9650

AThe Spacing Sprockets are located on the Clutch Shaft and on the Calibration Crank
Shatft.

@ MORRIS Module 2: New 2016 Assembly & Tech Updat:



tech 381- spacing sprocket

9650 Tow Behind Shown

Spacing Sprocket

\ Vi
N16281 /

Calibration Crank Shaft
Spacing Sprocket

Spacing Sprocket

2 LIl —

N506

! BiE-o(0 "-.‘1_:_____I RS~
. 7___1____— "I[ ,II--.L:,_ 'y gg,q_? S

Y
Ao
=, ’jﬁ N27628

M MORRIS

Tire Sprocketj

‘Tire Sprocket

Opener Spacing Spacing Sprocket
7.2"7 (183 mm) 12 testh
75" (191 mm) 12 testh
8" (203 mm) 13 testh
9" (229 mm) 15 testh
10" (254 mm) 17 testh
12" (305 mm) 20 testh
15" (381 mm) 24 testh

Module 2: New 2016 Assembly & Tech Updatt




assembly 255 tire sprocket size

AMorris has introduced new tire sizes
for the 9800 and 91000 carts which
require different tire spacing sprockets
as indicated in the following chart:

M MORRIS

TIRE SPROCKET

TIRE TIRE
TIRE SIZE STYLE RATING SPROCKET
305x32 [ AWT 12ply | 28 teeth
(Implement) :
Lug
30.5x 32 (Dyna Torque Il 14 ply 28 teeth
goo/es R3z | Radial 4475 | o8 teeth
(Dyna Torque)
800/65 R32 Radial
Dual Wheels | (DynaTorque) L1172 28 teeth
800/70R38 Radial
Dual Wheels | (Dyna Torque) L1172 24 teeth
850/80R38 Radial
Dual Wheels | (Dyna Torque) L1172 22 teeth
ooo/e0 R3z2 | Radial 1 475 a8 [ 26 teetn
(Dyna Torque)
520/85 R38 Radial
Dual Wheels | (Uttra Torque) 155 A8 28 teeth

Module 2: New 2016 Assembly & Tech Updatt




assembly 256 9800 brake system™

AMORRIS Industries is offering a Battery Kit to be installed on the 9800 Air Carts as
backup power supply fothe brakesystem. The Kits available arefakdows:
A N57391- Kit: 9800 Auxiliary Brake with Batterfpomestic Market (Canada Only)
A N57392- Kit: 9800 Auxiliary Brake without Batterfxport Markets

AThe battery installation has been recommended by the Brake System supplier to act
an auxiliary power supply at the rear of Air Cart near the brake actuator. This power
supply acts as a batlp system to provide extra power to the actuator to develop a
maximum pressure in the brake system to provide optimum braking performance.

ALY | RRAUAZ2ZY UKS oO0FUUSNE LINRYARSAE -L2§S
gl & Q FSIFIOdz2NE 2F GKS O0N-:1S aeaiasSy Aa .

@ MORRIS Module 2: New 2016 Assembly & Tech Updat:



e
i

assembly 256 9800 brake system™

Apply 1/4 x 1 Seal Strip (N15716)
to Brackets as shown.

AThe brake controller already has a specific
lead to plug the battery harness into.

A Note: The battery 'must be' connected as
illustrated [Positive (+) to Positive (+) and
Negative ) or Ground to Negative-]] for it to
provide the correct power supply to the brake
controller.

A Also note that the brake controller has a
built in charger so that it will keep this

battery fully charged as the unit is used in 4TS

the field. The controller draws power from g _c--
the tractor battery system and in turn o
charges this auxiliary battery. e

o N
] 1 ,A.' : > i 2 = -
S . 4
4 \ i ,_(
2 - i - ) =N\ =L
[

X
ry

ction
5/

@ MORRIS Module 2: New 2016 Assembly & Tech Updat:



e
it

assembly 253 brake adjustments

Caliper Clearance

Before beginning this procedure ensure 4 shims have been supplied
with Cart, if not Shims are available, orgert numberN53588
through the shortage claim process. Also, check the Airabalt
Seedingmplements wireharness teensure the RED wire is installed Shir
in the harness as outlined in Assembly Bulletin.234 v A o J—

In order to check the caliper clearance the rear wheels must be
removed

Check caliper pin clearance by rotating hub to find high spot in theSss
rotor. Clearance at the high spot shoudd between0 - 1/16" (0- 2 :
mm) clearance on outside pins. If not add Shims as required.
Note: Gap on inside pins should be greater than that of the outside
pins. The axle and hub assemhyll deflect slightly causing the
caliper to be positioned closer to the inside pins when Cart is
loaded.

@ MORRIS Module 2: New 2016 Assembly & Tech Updat:



tech 400 ict start -up check

On initial startup of an ICT system the following areas require special attention to ensure
properoperation

1. Checloreather caps on ICT cylinders, there should be 1 to 2 threads visible, if not lcagsditoo tight it
will hinder cylinder shaft movement.

2. ChecHKocknuts retaining ICT cylinders in place, ends of cylinder should be loosely fit fordveeent

3. Ifcylinders are not engaging and sluggish, bleed air out of cylinders, gears stesiigositivelywhen
cycled. (Refer to N55799 ICT Manual Section 1)

4. Checlgap setting of sensors in between the metering bodies. (Refer to N55799 ICT Bantiai)

5. Checldirection of meter shaft rotation, it should rotate counter clockwise when viewed firamsmission
side. If not hydraulic lines are reversed at drive motor

@ MORRIS Module 2: New 2016 Assembly & Tech Updat:



tech 400 ict start -up check

——



assembly 264.ladder down light

Morris has a running change to the Stairs Down Warning Kit which will be seen on units shipped in Decel
2015. Thisiew system incorporates a magnetic sensor which provides easier mounting and adjusting of tt
stairsdown warning

See attachedliagramdor details.

Ladder Up Position

Sensor Mounting

Moum\l N59885

11572} q [\ 11571
11573 11573

11572 41575

Route Wire along stairway mount.

Ladder Down Position

Sensor Clearance

Activator

1/ Gap

(83 mm)

Sensor

Module 2: New 2016 Assembly & Tech Updat



assembly 264ladder down Iight

Lighting - Full Tank Indicator ASSEMBLY BULLETIN N 251

Lighting - Full Tank Indicator

Item | Part No. Description Qty
1 | N55833 | Mount Plate - Bolt-On . 1
2 | NO540 | Switch BOX .ooovovvee.. 1
3 | N53228 | Work Light LED.............. 2
4 | N34682 | Cable - Two Light Adapter 1 "
5 | N34681 | Cable - Auger Light.. 1
6 | W-1552 | Hex Bolt- 1/4 x 1... 2
7 | W-s21 | Lockwasher - 1/4 2
8 |Ws512 | HexNut-1/4.... 2 imoeiheKindie o
9 | D-4951 Tie Strap - 7 1/2 Lg .. 30 Light Cover & use
9A | D-4838 | Tie Strap- 14 1/2 Lg.... 5 e $ 1 & i .
10 | N53231 | Backing Washer - 11/32 ID x 1 1/8 OD x .1345 Thick. 2 ittt
11 | W-475 | Hex Bolt- 3/8x 1lg.... i 2
12 | D-5279 | Lock Nut - 3/8 Serrated Flange... 2
Following Item Quantities are listed per Tank
13 | N42143 | Bracket - Ladder Mount... 1
14 | N42145 | Switch Bracket ...... 1
15 | N42090 | Level Sensor ... 1
16 | N15112 | Hex Bolt - 516 x 3/4. 2
17 | N42091 | U-Bolt- 516 x2 1/4....... 4 3
18 | N42098 | Locknut - 5/16 stainless .. 10
19 | N37014 | Cable-5# (Used in Tank 2 and Tank 3) 1
20 | N37016 | Cable- 104 (Used inTank 1 and Tank 4) .. 1
21 | N42088 | Cable - 11 ft (Used in each Tank).............. 1
20 | **=*+ | Grommet includes - NS6748, N56749, NS6750 1 ;
23 | N34715 | Tie Strap - 5.6 Lg 10 /\\
Sensor Mounting 24 | N36507 | Hex Boh -1/4 X 94 HEX UNG 8904, 1 .
vount " 25 | N36143 | Nut- Nylon - 1/4 Flange.... 1
26 | 54747 | Washer-0.281ID x 1.750D x 14GA.. 2
F/ 27 | N42198 | Seal - Full Bin Hole Washer ............ 2
K D\ [\‘:V Following Items Stair Down Warning Light
30 848 8w 28 | N59884 | Harness - Stair Down Warning Light 1
~, Connect to 29 | N59885 | Sensor - Ferrous Pmimny 1 Mam| (BectNo. Desctiption o
Auger Lights plug on 30 | N53886 | Strobe Light.... i 1 | N50654 | Sprocket Mount - Ground Drive only 1
Cart Light Hamess. 2@ 31 Machinie Serew #12 - 24 x 1 Lg - Brass . 2 2 | Noseai | Bracken - Waiming Lt 1
‘(\ a2 Flat Washer #12 - 0.25 ID x 0.562 OD - Brass. 4 4 Machine Screw - #4-40 Slotted Screw 2
ltams 24 to 27 w 33 Nylon Spacer - 1/4 1D x 1/2 0D x 1/4Lg 2 g oo s 2
are used to close 3 Lockwasher #12 - 0.216 ID - Brass 2 7 Hex Nut - 3/8 2
hole in tank when 35 Hex Nut #12 - Brass............... 2 8 L -3/8 2
Full Bin Indicator is not used.




assembly 259 case drain

Morris has introduced a new Case Drain Block for 2016 production year.

TheCase Drain Block combines altlog AirCart's ancb NJAcsk Q a
drains into one single line to the tractor as illustrateeside.

See bulletin for parts list.

Note: Thelength of the case drain hose item 23 changes between Tow
Behind and Tow Between Carts

@ MORRIS Module 2: New 2016 Assembly & Tech Updat:



